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He was poor and became rich - T dRWYTM 1Y

Overview

The X3 relates that 7X11° "OXD was a poor man who became rich, and was building
a mansion on his property. There were sesame seed pressers in his neighborhood,
and when they would press the seeds, his building would shake. *w& 27 ruled that
this is a case of 1°9>7 >7%, where (even) *01 "1 agrees that it must discontinue. M501N
discuses why it was necessary to mention that 7X311° *9%9 was poor and became rich.
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The X713, by mentioning that he was poor (and later because rich), is teaching us
a novelty, that even though these pressers had no reason to entertain that °5x5

X117 would build this mansion, since he was poor -
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Nevertheless, they were required to distance themselves, because it was 7%
w1797 (their arrows) —

MooIN anticipates a difficulty:
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Even though that in a case where he had the right to come close, it is not

necessary to distance, even in a case of 719997 3 -
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As the xn»12 taught, ‘if the stable for the oxen preceded the storehouse, it is

permitted’ to remain -
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''The 11”27 M amends this to read, *P10X? ¥71% *v2°X (instead of *P10XY *V2R).
2 Therefore, when they began their pressing operation they were In°2 720, since their pressing could cause no harm
to this poor person.
3 See the X7m3 here, X? 71"7 X, '01n (TIE there footnote # 5), and elsewhere. 177°7 *°) means that the damage is coming
directly from the one causing the damage, as in our case, where as they were pressing, the house was shaking.
4The 1n"277 N7 amends this to read, 77027 (instead of 7107).
5> The mawn there stated that one should not open up a Pyag Y1 0 nn1 YW nan under his friend’s warehouse, and the
same applies to a 72 no7. The & ma cited a Xn™72 that if the 72 o1 preceded the 71X he may leave it there.
6 See footnote # 5. The ruling of the X132 regarding P2 N5 applies to a 1¥ax w1 N1 Hw N as well; that if they
were there before the 71X, they can remain, even though this is considered %7 >, See R"wan.
7The 11"27 M7 amends this to read, Pyax »un (instead of 17vaxy).
8 Initially on X,m> 77 the Xm3 explained (according to X27) that the reason they can remain is because the 7pa na7 and
1°Y2% 2w 1IN Hw mian are considered his dwelling place, therefore we are more lenient, as opposed to a 77°2°7 >3 in
a field. However (according to m»0oin) this distinction is discarded in the X3p0n (see footnote # 9).
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And the same rule applies to a bakery or a store of dyeing; and according to the

conclusion’ in the X113 there is no difference between a dwelling to other situations,
so why were the pressers required to distance themselves since they were 2n°72 107!

MooIN responds:
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Says the n''a that here the reason they must distance even though they were 7210
an°72is because their usage of pressing sesame seeds was not that permanent like
the other cases mentioned previously, namely yax 51 omnn1 Sw n1am P2 no —

An additional solution is offered:
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(An annotation. And furthermore, for here [it is different] since he was T2
illegally, for with every shovel [and shovel] that he bangs he loosens the ground
[so it is similar to the case of a pit]. This concludes the annotation.)

Summary
977 ") requires one to distance even if initially there was no concern (like here

where *5X5 was poor); provided that it is not 7™ nwn X¥°3p, however if it is Xy*23p
W wnRwn, if he was 2n°72 710 he may remain even if it is 7°9°7 >3, (Alternately here
they were DX 210, since RYIR? *07) K1 92.)

Thinking it over
Why did the 0" not accept the answer of the 77"7 (that they were Mo°X2 7210)2!1°

% See "M "1 ™92 7201 71"7 'O 3,7 (TIE pg. 3), that according to the X1p0» one may be 7210 except for M.
10 Therefore, even though we do not distinguish between IXw? 7717 (as M20N said), nevertheless we differentiate
between ¥ w nwn Ry*ap (where it is permitted if 1n°72 TM0) and 1 wnwn Xyap R? where even if it was Tn°72 7170 one
must distance if it is 71°2°7 >3, since it is not that much of a bother to move the sesame press. Alternately, since it is
not 17w W X¥°1p, so every time they begin anew, it is as if they are starting now, so it is considered M0°X2 0.
''The n"an N amends this to read, 0w "IRW X277 (instead of Dwn Xo77).
12 These M2y had no right to press the seeds (so close to the boundary) even before nx1” 0X2 began building his
mansion, since their banging caused the ground of *5&5 to loosen and become soft, therefore it is considered 7m0
7O°K2. See s'%27 statement previously on 2,7.
13 The n"271 Mna amends this to read, *nnT 8721 X7 (instead of M7 XM). See w"w ) who is '8mn' 0113 (bang).
14 The n"27 N7 amends this to read, 2"V .1127 K17 7% X¥XY (instead of 2"V .RYIXD)
15 See mwn nom.
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